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QUESTION 1

The following flow receives order messages on an MQInput node then uses a Compute node to do some processing
and sends MQ messages to two warehouses on two different queues. 

The compute node routes the message to two MQOutput nodes connected through terminals Out1 and Out using the
following ESQL expressions. PROPAGATE TO TERMINAL \\'out1; RETURN TRUE; 

After deploying the flow, the solution developer noticed that the second queue always receives an empty message. To
fix this issue, which ESQL expression lines should be used in the Compute node instead? 

A. PROPAGATE TO TERMINAL \\'out; PROPAGATE TO TERMINAL \\'out\\'; 

B. PROPAGATE TO TERMINAL \\'out1; DELETE NONE-RETURN TRUE; 

C. RETURN TRUE DELETE NONE; RETURN TRUE; D. PROPAGATE TO TERMINAL \\'out1; PROPAGATE; RETURN
FALSE; 

Correct Answer: D 

 

 

QUESTION 2

On distributed systems, where must the local queue manager be specified in globally coordinated transactions? 

A. MQ Header 

B. Message Flow 

C. JMS Header 

D. Integration Node 

Correct Answer: D 

https://www.ibm.com/support/knowledgecenter/en/SSMKHH_10.0.0/com.ibm.etools.mft.doc/ac04 561_.htm 
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QUESTION 3

When using a GroupScatter node, which terminal allows logging and debugging of groups? 

A. Catch 

B. Published 

C. Group Created 

D. Out 

Correct Answer: C 

https://www.ibm.com/support/knowledgecenter/SSTTDS_11.0.0/com.ibm.etools.mft.doc/bc04740_ .html 

If the Group created terminal is wired, a message is propagated down this terminal, with the detailed group information,
after the group has been committed. The purpose of this terminal is to allow logging and debugging of groups. 

 

QUESTION 4

In Linux, what kind of syslog messages are reported by IBM App Connect? 

A. err, warn, or user 

B. err, warn, or info 

C. err, alarm, or info 

D. err, warn, or user 

Correct Answer: B 

 

QUESTION 5

In order to comply with port binding in 12-Factor App, how many integration servers should exist per container? 

A. 3 

B. 2 

C. 1 

D. Unlimited 

Correct Answer: C 
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